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School Certificate Examination, 2024

Mathematics (General)
Time : 3 Hours

Full Marks : 80
Questions are of value as indicated in the margin
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School Certificate Examination, 2024

Home Science (Core)
Time . 2 Hours Fu“ Marks b 24

Questions are of value as indicated in the margin
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School Certificate Examination, 2024
Mathematics (Addmonal) Full Marks : 80

Time : 3 Hours . .
Questions are of value as indicated in the margin
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School Certificate Examination, 2024
Physical Education (Core)

Time : 2 Hours Full Marks : 24

Questions are of value as indicated in the margin
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School Certificate Examination, 2024
Hindi (Additional)

Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin
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School Certificate Examination, 2024

English
Time : 3 Hours -

; F "
Questions are of value as indicated in the margin ull Marks : 80

1. Read the following extract from Adolf and answer the questions that follow:
Trouble fell on us. The little rabbit sat on our lap, unmoving, its eyes wid:,.a d
dark. We brought it milk, warm milk, and held it to its nose. It sat as still as if it wnas
far away, retreated down some deep burrow, hidden, oblivious. We wetted its
mouth and whiskers with drops of milk. It gave no sign, did not even shake off the
wet white drops. Somebody began to shed a few secret tears.

“What did I say,” cried my mother. ‘Take it and put it down in the field.’

Her command was in vain. We were driven to get dressed for school. There sat the
rabbit. It was like a tiny obscure cloud. Watching it, the emotions died out of our
breasts. Useless to love it, to yearn over it. Its little feelings were all ambushed.
They must be circumvented. Love and affection were a trespass upon it. A little
wild thing, it became more mute and asphyxiated, still in its own arrest, when we

approached with love. We must not love it. We must circumvent it, for its own
existence.

So I passed the order to my sister and my mother. The rabbit was not to be spoken
to, nor even looked at. Wrapping it in a piece of flannel, I put it in an obscure

corner of the cold parlour and put a saucer of milk before its nose. My mother was
forbidden to enter the parlour whilst we were at school.

‘As if I should take any notice of your nonsense,” she cried, affronted. Yet I doubt
if she ventured into the parlour.

At midday, after school, creeping into the front room, there we saw the rabbit still

and unmoving in the piece of flannel. Strange, grey-brown neutralization of life,
still living! It was a sore problem to us.

A. State whether the following sentences are ‘True’ or ‘False’. 1x4=4
a) The little rabbit sat quietly on the floor.

b) The children obeyed their mother’s command.
¢) The speaker decided that no one should approach the rabbit.
d) When the children came back from school they found that the rabbit had not

moved at all.

B. Put a tick (/) mark against the most appropriate alternative. 1x2=2
a) ‘Trouble fell on us.” Here, ‘Trouble’ was that

i) the rabbit was not responding to the children’s care. .

ii) the rabbit did not want to get down from the children’s lap. O

iii) the children’s mother was angry. D
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b) ‘Somebody began to shed a few secret tears’ because

)

i) the rabbit refused to drink milk.
i) the person thought that the rabbit was going to die. J
)

iii) the rabbit did not open its eyes.

ribe the rabbit. 1x2=2

C) Select two expressions from the passage that desc
y
ii) /,/

1x2=2

D. Find words from the extract that mean the following.
ecially something that you cannot have :

a) want something very much, esp

b) avoid something difficult :

2. Read the following extract from A Tiger Comes 10 Town and answer the

questions that follow: '
“No one is going to shoot,’ said my Master. ‘You will see the tiger come out and
walk off with me . . . One of you, take a ladder in and help the headmaster come

down from the attic.”
thout arms or protection?’

‘Do you mean to say you are going in as you are, wi
time to waste.’

“Yes, that’s what I’'m going to do. We have no
‘By the powers vested in me in my

The Chairman of the Tiger Committee said,
you notice that you shall not

capacity as the second Honorary Magistrate, I give
open nor enter the room. My committee members will bear witness to this order. It

comes into immediate force, notwithstanding the fact that it’s not yet in written
> He looked around at his members, who crowded near the window bars,

form . .

a.nd t‘fx’ey assented. My Master asked, ‘Wl‘ly”ll you prevent me from going near the
uﬁer.b They gere at a loss for an answer: ‘It’s unlawful to commit suicide.’

‘Maybe,” said my Master, ‘but which law section says that a man

approach a tiger? Are not circus people doing it all the time?’ should not
“Yes,’ replied the Chairman weakly. ‘But that’s different.’

‘I can tame a tiger as well as any circus rin ’ :

el y gmaster. It’s after all my life that I'm
“There is no such thing as my life or i

‘ your life before the e :

‘of.the law all lives are equal. No one can allow you to mur}tlieesr (;,t;)g;z ellafw: 11,1 the eyes
bLlf(;e or d?ath_ls not in anybody’s hands; you can’t die by willin esc

' )(/j determination. A great power has determined the number ofgbor cioape death
ir; ividual, who can neither stop nor prolong life. That is why God reaths for each
“fam life and death, I, the killer and the killed... those enemies vor. = o ¢ Gita,
o Uunfi, are already dead, whether you aim your arrows at then};ou see before you,
: B chal;fr-r)an was vm?ly confused and bewildered. ‘In that cag o ot . ’

gn an affidavit absolving us from all responsibilities for your lif: ()), 0:; il have to

r death. ..’
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Answer the following questions:
a) What did the Master appeal to the people? 2

(b) What did the Chairman of the Tiger Committee order the Master? Why?  2+2

(c) What opinion did the Master have about ‘life’ and ‘death’? 2

(d) What did the Chairman ask the Master to sign?

3. You have read about Anuradha TK (Geosat Programme Director, ISRO
Satellite Centre) in India’s ‘Spacewomen’. 1magine you are XYZ. You
interviewed Anuradha TK and she talked about the importance of participation

of more women in science and technology. Now frame an imaginary dialogue
between Anuradha TK and XYZ. 8
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4. Read the poem ‘The Bridge Builder’ and answer the following questions:

An old man going a lone highway.

Came, at the evening cold and gray,

To a chasm vast, and deep, and wide,
Through which was flowing a sullen tide.
The old man crossed in the twilight dim,
The sullen stream had no fear for him;
But he turned, when safe on the other side,
And built a bridge to span the tide.

‘Old man,’ said a fellow pilgrim near,

“You are wasting your strength with building here;
Your journey will end with the ending day,

You never again will pass this way;

You’ve crossed the chasm, deep and wide —

Why build this bridge at evening tide?”

The builder lifted his old gray head:

‘Good friend, in the path I have come,’ he said,
“There followed after me today

A youth, whose feet must pass this way.

This chasm, that has been as naught to me,

To that fair-haired youth may a pitfall be.

He, too, must cross in the twilight dim;

Good friend, I am building this bridge for him!’

A. Tick (¢) the correct alternative from the given options.
a) An old man, at the evening came to a -

i) jungle D
ii) chasm )
iii) highway )
b) The expression ‘sullen tide’ refers to -
i)  sunken tide )

ii) a deep opening in the ground )

iii) dark and unpleasant stream O

B. Find words from the poem which mean the following.

a) a deep opening in the ground :

b) a time after the sun has set and before it gets completely dark :
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C. Complete the following.

%) The old man came to a chasm, [hrough which //”_\

b) After safely crossing the stream, the old man T T

2x2=4 |
D. Answer the following questions. ;
§

a) What was the fellow pilgrim’s opinion?

b) Why did the old man build the bridge?

5. Read the passage and answer the following questions:

We have all heard about air, water and sound pollution. What is light pollution?

Common sense would suggest that this type of pollution happens when there is too
much light or there is light where it is not needed, or light which causes discomfort.

And this is correct, as anything that is not beneficial and harms or creates problems for
the environment can be labelled as pollution.

Let us look at the major light pollutants and how they pollute the environment.
Brightly lit advertisement boards, lights from shops, offices and factories and poorly
positioned street lights that direct the lights upwards rather than on to the streets, are
examples of light pollutants.

There are three major forms of light pollution: sky glow, spillover and glare. Sky glow
is a major problem for meteorologists and astronomers. It is caused by electric light
escaping upwards into the sky and scattering into the atmosphere, creating a glow
effect in the sky. Sky glow obstructs astronomers from seeing and studying stars,
planets and other heavenly bodies. Meteorologists find it difficult to observe weather
phenomena in the atmosphere. Lights from high-rise buildings, street lights and neon
lit billboards are the major contributors to this kind of pollution.

Spillover happens when light falls over an area where illumination is not required. For

example, when street light enters your bedroom through the window at night, the
spillover of light from the street into your bedroom can disturb your sleep. Such light
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is also a waste of electricity, for much of the light that it gencerates, illuminates a space
that does not require lighting up.
As the word suggests, glare is the pollution of bright light falling directly on the eyecs.
Glare lecads to temporary blinding effect. For cxampl.c. the glare of powerful
headlights of vchicles can for a moment blind both dnvc.rs and_pcdestrnan.& and
therefore compromise their safety on the road. Morcover, birds, animals and insects
such as owls, bats and moths, which come out only after dark, often get confused by
the bright lights and face difficulty in moving around. .
Some simple steps can be taken to reduce ligh.l pollu_tion. Turn off the lights when
they are not needed. Use light only as much as is required for proper vision or safety.
For fixed lights, in homes, offices as well as on the streets, install hoods above the
bulbs to reducc light from escaping upwards. '

A. Complete the following statements using information from the passage.

1x2=2
i) The passage is about
i1) Birds, animals and insects often get confused by
B. Choose the correct option. 1x4=4

a) Glare leads to -

i) determining the direction of travel of objects in the water
ii) permanent blindness

iii) eye injury

0000

iv) atemporary blinding effect

b) Light that is wasted is called -
i) glare

ii) spillover
iii) sky glow
iv) illumination
¢) Sky glow can be caused by -
i) neon lit bill boards
ii) light entering the bed rooms
iii) both (i) and (ii)
iv) none of these

d) Sky glow obstructs-
1) astrologers

ii) astronomers

iii) mathematicians

0000 0000 oood

iv) astrophysicists
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¢ * or ‘False’. 1x2=2
C. State whether the following sentences are True

; ironment.
a) Sometimes light may cause serious problem for the envi

b) An astronomer observes weather phenomena. ' =

i i 1x2=
D. Mention two steps to reduce light pollution. 2=

i)
ii)

E. Find the words from the passage which mean the following.

1x2=)

i) Substances that cause pollution :

ii) Persons travelling by foot :
6.A. Answer the following questions as directed :
a) Fill in the blanks with the correct form of the verbs in brackets. 1x2=)

i) Geetanjali (write) by Rabindranath Tagore.

ii) When I reached the station, the train (leave).

b) Fill in the blanks with appropriate prepositions given in brackets. 1x2=2

i) He travelled all (in / over / with) the world when he
was eighty years old.

1i) He always speaks (with / in / by) a loud voice.

¢) Fill in the blanks with suitable words given in brackets. 1x2=2
i) Is there (many / any) food left in the fridge?

i) He is not (much / more) older than his sister.

B. Report the following conversation.

Ganapathy : Are you free tomorrow?
Malini : I'don’t have anything scheduled for the evening.

Ganapathy : I would like to invite you to my birthday party at Hotel
Taj Mahal Palace.
Malini : Wow! I would like to come.
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7. Write a paragraph describing an incident that moved you deeply. You may
include the following points in your description: 10

eWhat happened? eWhen did it happen? eWhere did it happen? e What did you
do? eHow did you feel?
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8. You are Arup/Avantika. Recently you have read an article on ‘Solar power
systems for greener India’. Now write a letter to your friend sharing your

views in favour of solar energy and requesting him/her to switch over to solar
energy to conserve electricity and limit electricity bills. 10
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